Technical Support Department
Blls' 1.877.BHS.4YOU (1.877.247.4968)  BHS1.com
® M-F 8:00 A.M. - 5:00 PM. CT (GMT-6)

ATC /BTG
MANUAL VALVE KIT
P/N: 80042002

UNASSEMBLED ASSEMBLED
QTY  PART# DESCRIPTION

08046001 MODIFIED LEVER VALVE KIT

HC0201 MANUAL VALVE

H1303 ADAPTER-90-DEG-#6 JIC X #8 NPT

HW0804 SCREW-SHSS-3/8-16 X 1"
HW1004 NUT-COUPLING-3/8-16
HW0001 NUT-HEX-#10-24

HW0204 SCREW-RHMS-#10-24 X 1"

JEENGRY NG, J G G NG G §

Specifications subject to change without notice.
©2008-2017 BHS, Inc.

St. Louis, MO. All Rights Reserved.

08/17



